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Unit One

Before Reading

1. Look up the following words in your dietionary:
infrastructure, analog, multiplex, LAN, WAN ,
asyschromous, peer, adapter, legitimacy, time-slicing

2. Read the passsge and underline the following information

in the text:

(1}). How many separate information infrasirusiures does our

world have?

{2). What does ATM mean?

(3). Dow does ATM overcome the delay problems?

(4). What's the difference between a peer network and a eli-

ent/server petwork?

(5}. Why car’ ¢ peer-~to-peer networks perform the high-velume,

high-transaction work?

Text
The Future of Networks
Thenks to history, our world has three separate informalion
infrastructures: telephones for voice, televisions for video,
and computer networks for data, These separate voice, video, and
data iofrasiructures are ali moviné from analog to digital for
trensmission, muftiplexing, and switehing,

The telepnone intrastrueture has bheen digital internally
for a long time 8o far. & few external digital service offer-
ings. tike T1 {t. 544Mdb per second iMbpsi). have caught on, but
only among higher end corporate customers for private voice
and wide area computer networking, much of it among LANs. Right




now, however, the telephone compacies are attempting to deploy
lower end digital services through Intrgrated Services Digital
Network (ISDN}

The television iafrastruciure has evolved from wireless to
cable and is or its way to adepting fiber-optic media, but
broadeast remsins for the mosi part gn snalog technology.

The newest ioformation iofrastructure, for carrying data
ameng computers, first took off with the development of packet
~gwitehing technology in the 1970s. Packet gwitching was used
to transmit datg up to 50Kb per second to consect mainframes
and minicomputers over wide area networks around the world
Multimegabit shared-media LAN technoloegy in the 1380s adopted
packet switehing to connect workstations and personal comput-
ers within buildings.

So, if your re thinking 1% & about time for the telephone,
televigior and computer networking infrastuctures to be unified
under a single digital technology, you have s head start in
undersianding ATM, the grand unifier, :

Asyeehronous Transfer Mode (ATM) is a digital multiplexing
and switching technology developed and standardized by the
world s telephone companies to integraie the iransmigsion of
voice, and data communicutions.

The problem with packet switching for compuier networking
ig that it works very well, but only if you are stuck -in the
ASCiI-bound applications of the 19705 as is today' s Ilnternet,
If you wani to hegin to mix interaciive voice and video into
your computer ﬁctwork iransnissions, you are limited by whai
-used to be packet switehing s primary strength.'

To efficiently trensfer millions of hits per second, packets
vary in length, tend to be long, and are routed one by ome in



N

sof tware. These qualities have advantages, especially over the
circuit switehing technologies they replaced, hut they result
in delays that make for poor voice and video communicstion,
especially &t hillions of hits per second.

ATM overcomes these delay problems by wuwsing short, fixed
-lenpgih packets called cells. End-to-end virtual circuit routes
are computed prior to the transmisgions, allowing data 1to be
tragsmitted, multiplexed, and switehed rapidly by the ATM
hardwate., Switching, transmission, apd routing are currently
implemented in sofiware, which has inherent speed limitations,

ATM will allow you to mix voice, video, and dais tren-
smigsions it the same informetion infrastructure, It is widely
expected that ATM will serve as the grand unifier of ihe major
informatiop infrastructures {voice, video, and datal snd the
grand unifier of the major computer networking noodes (WAN, LAN,
remote, and mobile}.

Therte gre pienty of peer-based neiwork operating sysiems,
but in general, all use the same hardware as clienti/server
gsolutions :Etheraet or Token Rirg adapter cards and couxial os
iwisted-pair cabling. The difference is in the logieal organi-
zation of petwork resources and the underlying operating
sYsichs,

Ir & peer network, every station can fumction &g both =&
client apd g server. A deskiop PC, for example, might be rumn-
irg Lotus 1-2-3 for its local user while other users acecess
files on ite hard disk. Ai the same Lime computer mighi alse
act as a print scrver for other PCs in they ares.

This is ip marked contrast to & elient/server network, where
specific computers are dedicated to file, print. and communi-
cations functions and aren’t used by individeals. In a peer-to




-peer golution, any machine on the setweik can act as & server
for the same services and still he used as a client workstation.

As you might imagine,ali this flexibility comes at a price:
Peer-to-peer networks can’t perform the high-volume, high-tr-
ansactiop work. That is because peer petworke must use DOS gs
their operating system and compensate for ite inherent weak-
pesses in file and memory management and its lsek of multi-
tasking. So you wor’t find anyone running SQL databases of peer
networks,

That may change, however, as both the power and the legiti-
nacy of peer neiworks grows, Many of the peer-based network
operating systems now offer system echancements such 8s time
-glicing and memory management, further improving performance
and reliability.

Peer networks excel at their capability to share files
among users, unlike 2 c¢linet/server network, where users can’ 4
share files uniess & network administrator has specifically
established file aceess righs on & server.

Peer petworks are +typicaily inexpensive: 10PCs  can  he
copnected for less than $200 a node (plus cabling), nmuch less
than what you'd pay for a Microsoft Corp. LAN Manager or Novell
Ine. NetWare solution. If you alresdy have the network
ivterface cards and eabling installed, adding a peer setwork
is even chegper; an upgrade to Windows for Workgroups for g
Windows user costs leas than $100. In addition, meany peer
getwork operating eystems inelude applications such ag E-mail
and group scheduling programs, making them an even hetter value.

It's significant that two of the most important recent net-
working eniries, Windows for Workgroups and Windows NT, make
heavy use of the peer-to-peer model. Peer-based networking can



provide 8 level of flexibility beyourd traditional clieat/ser-
ver networks or enhance those networks by bringing new power
to users, As desktop computers grow more power to users, As
desktop computers grow more powerful, it only makes sense to
share their horespower in & way that can benefit every user.

Peer-to-peer LANs are great solutione for small and medium
-gized companies, and even larger companies are finding that
they have become an imseparable part of how they do their
business. Looking ahead, it’ s easy to envisior a day when
today’ s alternative will be tomorrow s mainstay.

New words and phrases

1. infrastructure on BEL BRESA
2. multiplex v, ZBEH

3. switeh v, FF¥X; x#H

4. & head start inp ... Fooo... K B
5 LAN n, KR MM %
6. WAN n. SEF

7. peer o, MEH

8. client o, BE; FFH

% come at a price £ B4 Bk i)

Notes to the text

| WA GGG E AU A LS F . 4 LAN 1SDN, SQL
2. It is widely expected thay. ..
CANIREE. ... }

2. This is in marked conirret to a clieni/server network, where
specific computers are dedicated to file, prist, and communica-




tions functions and aren’ ¢ used by individuals,
GE-SERYEPH/BEBUR EEFA/MEBHES, Ll
WENE VAT XMo@ EE08, WIARTBEAL. )
in marked contrast to.. R—AAFEE, #F “EiHE. . HMR”
XA B FwhereB SRR EHEFENY, Bilnetworke

Exercises
¢ 1. Answer the following gquestions:

!, Whiek geparate information infrasiructures does our world
have?

2. What does ATM mesan?

3. How does ATM overcome the delay problems?

4, What’s the difference between & peer network and a client/
server neiwork?

5. What do you thiank of peer-to-peer networks?

6. Why can’ t peer-to-peer networks perform the high-volume,
high-tran-saction work?

7. What does ISDN menn?

8. What’'e the difference amonp various peer-based network op-
erating sysiems?

3, What do LAN & WAN mean?

10. ¥hich one will be tomorrow s mainstay of network?

I, Fill iz a word or a phrase;

1. _____ history, our world has three separate information
infrastructures.

2. These separate voice, video, asnd dats infrastructures are
all moving from _ to digital for transmiesion.

3. The televigior infrastructure has evolved from wireless to



4. To efficiently transfer millions of bits per second, pae-
kete vary in .

5. ATM overcomes the delay problems by using , fixed-leng-
th packets. |

6. End-to-End virtual circuit routes are compuied the
transmigsion, '

7. ATM will allow you +to voice, video, and data
iransmisgions in the same information infrastiructure.

8. This is ic marked contrast _ a client/server petwork.

9, As you might imagice,all this flexibility comes 2
price.
10. Peer-to-peer LANs arc gresi sclutions small and

medium-sized companies,

[lf. Translate the following into English:
Lo BTSRRI, SRATH R A = e g M b
2. WEREAMAI AN, FURATEH AL, WHEAPTEHE
HEFRET o
WA R ENF AR LR RERT .
4, Sedb gt U B R L o A A D AR .
5. ATMAU M AT HY . BLSE-KJ8 104 BT T SE A AR Lo
6. A HAATMG W ELRA T Ho
T AR A B BT AR AR & 8 SO R P M R o
8. R MIEAYXNFRMMNo
9
1

?-3

C BOTRARER, SEREGRAREERE AR
0. —REERE, RSB,

1V. Translate the following inte Chinese:
SCSI--The Smari Subsystem

T




If powerful PCs are ever going to live up to their
poteniial, they wifl need an I/0 interface like SCSI. The Small
Computer Systems [zterface fs one of the few standard techio-
logies to move out of the domain of minicompuiers and worksta-
tions down to PC turf.

The move hasn’t been 2 smooth ore, SCSI devices still cost
more than the I/0 devices D0OS is geared to handle — the
Echanced Small Device Ivierface or integrated drive electroni-
cg disks. Aed, because of the lasek of PC operating system
support, SCS8I devices reguire drivers,

On the other hand, SCS1 has evolved beyond the SC8I-1 stage
that followed its adoption as an ANSI standard in 1986. At that
iime verdors embraced differeat portions of the 8CSI conmand
get in their device drivers while claiming to he SCSI-complisnt.
Hence, two different SCSI peripherals might not work with ihe
same SCSI expansion card (or host adapter, at it is kpown in
the minicomputer world.}.
~ Sensing that user frustration was building, suppliers of
SCSI-1 devices finally got together 1o zeek greater compatibi-
lity, Most ipcompatibilities have disappeared with today s
SC8I-2 devices.

In addition, & part of the SCSI-2 standard known as Fast
SCS51 doubled the data transfer rate from SM to 10M byte/see. ,
while Wide SCSI incressed the data peth from 8§ to 1§ or 32 bhits.
Teaming up Fast and Wide SCSI over 32-bit path yielde & 4OM
hyte/see. trapsfer rate, & bandwidth that can stand up to the
heaviest demands of PC applications,

SCSI is cow one of those technologies that allows you to
siart =mall and scale up to the system you want. Starting from
a aipgte lisk drive, a SCSI-equipped PC could add up to seven



periphergis of various kinds— -say, & mix of disk drives, a CD
~-ROM, rewritable optical and tﬁpe.

In the mesntime, buyers with an eye to lomgevity might be
wise to consider SCSI as the I/0 bus of choice for the more
powerful PCs, Unlike standard PC peripherals, SCSI devices are
bidirectional they can send and receive commands through the
host adapter,

SCSI thus allows greater use of the multithresdiog, multi-
tasking power of the & 32-bit operaiing systems, such as 05/2
or handle requests from several different devices sttached {o
the §C51 bus at the same time,

And the 32-bit power is more fully reslized with desktop
Unix Solaris, UnixWere and the Sunta Cruz Operstion’s Open
Degktop -as support for SCS1 is kuilt inte the operating
system kerpel, Special drivers do not need to be added.

The Macintosh is one of the few exzamples where SCSP s
standard across the produet Iipe. The SCSI underpinning is one
of the reasons why Macintosh applications work together more
congistently than those in the DOS/Windows world

Buying inte SCSI for Iptel-hased PCs is more expensive
initigliy-—a Fast SCSI hard disk drive will eost $200 or § 220
more ihan & non-SCS8I drive. But what the extrs moaey buys is &
more intellicgent subsysiem ihat is better able to support the
needs of the deskiop of the future,

V. Choose the one answer ithat besi completes 1ihe sentence the
selence:
1. My father did not go to New York; the doctor suggesied
that he there,
A. not go C. not to go
B. hado’ t gone D. wouldrn’ t go




2. Most people who travel in the course of their work are
given i{ravelling

A allowarneces C. wages
B. income D. pay
3. He failed to supply the facts relevant the case in
question,
A for C. of
B. with D. 1o
4. The service operates 36 libraries throughout the couniry,
while six libraries specially serve the countrysidé.
A, mobile C. shifting
B. drifting D. rotating
5. Physies is the pregent-day equivaleat of __ uced teo

be called natural philogophy, from which most of present- day
scichce arose,
A, that C. all
B. what D. which
6. Before he siarted work, 1 asked the builder to give me an
of the cost of repairing the roof.

A, asgcessment C. estimate
B. announcement D. evalustion
7. We often advise him not to drink more wine ___ is good
for his health,
A as C. that
B. but D. than
8. When Jack was eighteen he going around with &
sirange set of people and staying out very late,
A, took up’ C. took to
B. took for D. took on
5 A good teacher must know how to his ideas,

10



A. consnlt C. convey

B. display D, confront

10. 1’d rather you _ t{hose important documenis wiih you,
A, not take C. won’ i take
B. don’ t take D, dide" 1 take

11. You should have put the milk it the iece-box; 1 expect i
undriankable by now. |

A. bacanme C. has hecome

B. kad hecome D. becomes

12. Undersianding the ecultural habits of another nation,

especfaily e conteining as many different subeuliutes o8
the United States, is & complex task,
5 one C. that
B, the one I} vueh
34, when she sturted complaicing
A. Kot until he arrived C. Ko sooter had ke arrised
B. Tiardly hed he arrived I SBcarcely did he arrive
14, The wmeopager promised to have my complaint _
A looled through (., locked over
B Joeked into . B, lacked after
15, You can’t be __ . careful in meking the deciciop as it
was such a eritieal ease.
A very . toe
B, quite D. 80
vl Cloze

For vuch blank in the following psssage, choose the most suii-
able word from the list of words provided underneath, Euch word

can he ussd omnee only,
expecied either of discussed

11




related that to mentioned

that for of or
sirength those thought on
look at that to annoy
which live varying livieg
because

Response to Noise

Response to noise in hospitel was eclearly related 1
custom and background. A}l patients of professional clagses 2
ward noises, and expressed 3 degrees of dissstisfaction with
what they 4 of a5 ’avoidable noise’ . The 74 people who made no
comment 5 noise and the 19 who thought & the ward was not
poisy were 7 _in unskilled werk, often factories, 8  the
wives of unskilled workers & & comparatively communal 1life
in tenement property

There is a suggestion also that noise is 10 to severity
of illness, and resultant lesgih 11 stay in hospital. Neises
which may not  J2 & seriously ill patient 13  of his con-
dition, begin to irritate as he recovers 14 ., It would not
be profitahle to list noises 15 hy patients, but it would
perhaps be useful to {6 what were brogdly thought 17 as

*hospital noise’, 18 is noise ipherent in a sickness
situation and accepted, if not 14, by patients; and then
to consider the *avoidahle noises - 20  made through, per-

haps, lack of thought ar care

Vil. Identify the part of the sentence that is wreng aad then

write down your correction.
I.T will show you my photographs the moment they will be ready.

A B ¢ D
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3. For & whole hour, we did our preparetions and at {ast

A B
everything that we needed was ready.
C D
3. A measuring worm cap hold itself straight out from a
A B C
branch so that looks like & small twig
D
4. The eruptions of Mt. St. Helens were severe enough to cause
A B
pumergus death.
¢ D
5. ldsho rapks the first among the states in poetato production,
A B C D
6. No bank keeps esough cash payieg all its depositors in full
A B C D

gt one time.
7. Carbohydrates, proteins, and fats in food are breaked down

A B

inte simpler forms in the digestive {ract.

¢ D

8. A condition of the soil, "hardpan”, is disadvantageous to

A B
farming since it interferes the development of roots and the
€
circulation of moisture.
D
9. Kale is a vegetable some like cabbage, but with loose,
A B ¢




